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N EAT Suggested Solutions
Part A(H1E5)

1. Let x = 654321, The expression becomes x'-(X+2)}(x-2)=x'-x"+4=4,
i x = 654321, FrRBlifs x*-(x+2)(x-2)=x"-x'+4=4,
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3. From the unit digits, 12-¢=3, ..¢=9. From the tens digits, 10+(b-1)-8=7, ..b=6. From the hundreds
digits, a=8-4=4, ‘.a+b+c=19,
AR, % 12-c=3, ..c=9. @B, # 10+(b-1)-8=7, .b=6. RHEFMEE,
a=8-4=4, '.at+b+c=19,

4. The left side of square ‘C’ is adjacent to ‘A" while ‘D’ is adjacent to the right side of the square ‘C”,
therefore ‘D’ is opposite to “A",
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5. Let O be the intersection of AC and BD. Triangle DOC is 1/4 of the square ABCD while the shaded
part is 1/2 of the DOC. Therefore the shaded part is 1/8 of the square ABCD.
A% O F% AC B BD #y%285. = Af DOC syl & IE/57 ABCD Y 1/4 » kg2 =M
DOC &Y 1/2. FRLAEEBRATGHEIE /57 ABCD &Y 1/8,

6. x+y=T7(%-y), .. 8y=6x
Xy=24(x-y), .. xy=24x-24y=24x-18y=6x
- X(y=6)=0; y=6 & x=8; xy=48

7. If there are n boys, the total number of students will be n+1.1n=21n/10. n must be a multiple of 10
and 21n/10=40, so n=10 and there are 11 girls.
1 n B4, BB i ) B n+1.1n=21n/10. B n 5% 10 A945 8 1 21n/10<40, FrLL n=10 [0
rac N = N0

8. Let k=998, a-b=(k+1)(kx1001001+1)-k[(k+1)x1001001-1]=k+1+k=1997
8% k=998, a-b=(k+1)(kx1001001+1)-k[(k+1)x1001001-1]=k+1+k=1997

9. 1-2-3+4+5-6-T+8+9-......+ 1996+1997-1998-1999
=(1-2-3+4)4+(5-6-T+8)+......+(1993-1994-1995+1996)+(1997-1998-1999)
=1997-1998-1999= 2000

10. Let x ¢m be the length of the square. The perimeter of each rectangle is 2x+2x/5=24, so x=10. The

radius of the circle is therefore 542 cm and the area of the circle is 50m cm’.
T8 S x om » HHSER A AR AR 2x+2x/5=24, FLA x=10. B R 1§ M 4R

5y2em o EIALES 50 em®.



11. Each interior angle of the octagon is 135°, BC/AD, .. #/BAD=180-2ABC=180°-135"=45°,
Similarly, ZHAF=45°, Hence £ DAF=/BAH-ZBAD--HAF=45",
IESGBEEMME 135°  [if BC/AD, . ZBAD=180-ZABC=180°-135"=45°, [a)fa]i

LHAF=45. [t £DAF=2BAH-£ZBAD-£HAF=45"

12. We may count the number of ways of getting to each point, as
shown in the diagram, which is the sum of those numbers at the

preceding points. There are altogether 11 possible paths.
AIBAT - A SHE I T TR E BRI 1 1{/}, 4
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13. Let the number be abed. We know that 1200x9 is already a 5-digit number, therefore a must be 1
and b must be O or 1. Asa=1, d must be 9. If b=1, 1109 is not the answer and 1119x9 is already a 5-
digit number. So b must be 0 and the number is 1089,

STAEBIFS abed. P 1200x9 L T8 - w8 a L8 1 b HafHy 085 1. [ a=1,d {085 9.
5 b=1, FTH) 1109 163 AR 1119x9 B2 — F{r8. B b 2 0 fiilEBLs 1089,

14. £DEC is a right angle and the area of triangle DEC = (3)(4)/2=6. Therefore the area of the rectangle

is 12 and BC=12/5. Perimeter of the rectangle is therefore 14.8.
£DEC J&—H A i =/ DEC 89 = (3)(4V2=6. FEILE A eayiiit= 12 iy BC=12/5. itk

A R AR 14.8.



Part B(Z5f)

15.2'%%0 m 24259 m 6150 § 379 = 330300 = 37290
[6:<27, J 1% <270 5 20 o g%




